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SN 4G BITAD
M Z0IgHE pE2d
Col: EedRe PEeY XY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 1,560 1,560 0
oddg OISEEs 29
10,0003 * 13 »63] 780
odg+ FuUNXAZE A 29
10,0002 * 13 *63] 780
307 212+01& 14,160 12,704 1,456
05 2ItRIE = 14,160 12,704 1,456
O=gd4 Jt2J| A2l & EA
3,540,000& 42 14,160
HE =d=X S8 43,476 35,200 8,276
201 Ler=23 | 37,476 28,200 9,276
01 At2teltl 21,876 17,400 4,476
OXYS=3 X208 298 IA=E
300, 0002 x4 =122 14,400
OXY=Z3 XSHAE =l
250,000 x4 1,000
OTFUAY SASXD| Xl
440,000 122 5,280
oAy dJIF 78 1,1%
AEIARZT B 29,800 +20H 596
ozngu 30,0002 +20H 600
2 S5=24g4l 15,600 10,800 4,800
OFUHAE LPGItAHI 1,300,000& «12& 16,600
303 Z&a= 6,000 7,000 A1,000
01 Za= 6,000 7,000 1,000
0%+ 2 & URNSTE HY
100,000 x10H +63] 6,000
AIEL ARSI M HE XIE 54,010 54,592 N582
307 @I2t01 & 54,010 54,592 A582
02 LB AANHEE 54,010 54,592 A582
OogHs MOSXTAE2s AR
1,164,0003 1300 2 15,132
OHs Mit==RU|=l AFEXIEA
1,164,0002 %1394 2 15,132
Ogs Ht2A)|A2 2 AEXA
1,319,200 1300 A& 17,150
Ost=I=&5HY HSE3| AIHXISA
582,000 374 2 1,746
OHSASU NH2ASAIH AIZBAIE
4,850,000 * 10K 2~ 4,850
ANYESAE JIsES 267,558 262,551 5,007
dg130e01E 29 267,558 262,551 5,007
201 fer= 3| 150 150 0
02 S3=gHl 150 150 0
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OUEI0I=0IAIE MM BEF
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307 212+01™ 267,408 262,401 5,007
10 Al S XA EEHE2IHIE X 267,408 262,401 5,007
O7&0Ne0lE 29H| X
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& D18, EL,SH, ZA FEF23E 49,807 46,085 3,722
“8E ZEIIE FA 19,848 19,310 538
201 LB-2AH| 13,548 13,260 288
01 AtR2elt] 13,548 13,260 288
OZLE FFYRENN ROl 11,500
OFI H4R210AM 10,0002 x50 2 +23| 1,000
O=Al SR210M 10,0002 x50 2 +23| 1,000
OF2YD AIBH A
10,000& * 1002+ 12| 1,000
OAIZAHEA 10,000& *100+22] 2,000
Q23| HE ALSZ A
15,0002 3002 +13] 4,500
OSJRAZH FHEIAN
10,0002 x50 2 *23| 1,000
ORI HEA
10,0002 x 1002 *13| 1,000
O+3d PR3 49 HIE
70,0003 *83| 560
OLE IAd & A8 1,488
OPQIXICH 320,000 *43] 1,280
OsE= 52,0003 43| 208
202 bl 4,800 4,800
01 =LHO4b]| 4,800 4,800
OREYRFE ol
20,000 *10Z x24 ! 4,800
405 KR SHI 1,500 1,250 250
2 EA7I 1,500 1,250 250
OSIIH(HF=ZA) EAPY
15,0003 *100& 1,500
&t SH A 5,063 4,833 230
101 @124 d| 5,063 4,833 230
M IIRINZ2Z2XSEs 5,063 4,833 230
OSHZEA SREX 2122 4,926
OAF X Z AL 82, 1003« 120! 1,642
O&d - MZESZA
82, 1003 x 120 1,642
OAFSIZE A 82, 1003 x 1820 1,642
O4UHEE JI2RES 137
(@ME=35)= 4,926,000 *1.75% 87
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SN 4G BITAD
M Z0IpE pE2Y
cels Es FAEE xd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot 300,000& %12 300
OIIA 310,000& %12 310
oOxge2dE =23 100,000 45 400
O0E0I=0IAE A5 570,000 42| 2,280
02 S5=24g4l 390,774 359,726 31,048
0882= £ HA 269,275
OFSPIEei=) 20,000,000& 123 240,000
Od=R=3 2,000,000~ 122 24,000
OCuERY FE= 5003 19,594 m" x50% 4,89
OAgt&E 2] 53,0002 *12] 53
O&JIPI=E3l 200,000 12 200
OJIAHZ8IA £ g2l 123,000 12 123
OAEZEHl S 95,571
OFAL AdE S| 2,4813+19,504m’ 48,613
OF A JI1&4H| =2
259,089 x2H *502] 25,909
OFAL JIHIEHl 72
210,486 x2EH *502] 21,049
OFAL =82l 2,400& 3,601 m x33] 25,928
206 M=Hl 46,212 45,866 346
01 MHZH| 46,212 45,866 346
OFEAL EAES 31,546
OHEEEA S 55
250,0003 65+ 12& 15,000
OFLEZHMN S 65
20,0002 465+ 12 1,440
ORIl BHHEE
2, 1703 %1500~ 12& 3,906
OHAEE 50,0002 165+ 122 9,600
Ostza HAYSH L cLSH
20,0002 x25+20 =23 1,600
OFAL AIE22IES 14,300
OAEE 2==cl XM 100,000& 205 2,000
OLED =93 150,000 *55+10H 7,500
OMIIARSE t8J| S5
50,0002 455+ 12 3,000
OINHADE BIBRTH (55
30,000 x55 122 1,800
ogdll ==U 1,830& %200 £ 366
401 AIEHIX SO 344,000 30,000 314,000
01 AlZH| 344,000 30,000 314,000
OJIHEH 482 89
24,000,000 24,000
Odg7E HUXNNEEX X
320,000,000 320,000




SH: NET SHEXAD
mE: F0lOE INRY
cels Es FAEE xd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 16,320 16,320
01 It =S F = 16,320 16,320
CNE=) 12,610
O3 &(%65L) 9,300,000 *1CH 9,300
ORf+=MFE, SAXUIIA(1160)
1,420,000 2CH 2,840
ONIOf & (45L) 470,000 = 1CH 470
Oxtgzeld H&F1(300¢ 0I5t
700,000 *1CH 700
O S ESAII(AD) 2,010,000 «1CH 2,010
&8s IHE = Xl 142,527 203,310 260,783
201 2= 137,777 131,810 5,967
01 At22t2l] 7,650 7,425 225
OYE(ZY,B0H) 242
20,0002 1004 2,000
O=32cl cta g 2703 #5,000H 1,350
OS8E WAW 2HL2E
250,0003 %204 2+53] 2,500
O & A&zl Xt 50,0003 +5& 250
OXEAT NS HYI| 23 1,550
(@F=}= 70,0003 %102 A 700
Otg 170,0002 5SET 850
02 S3=gHl 130,127 124,385 5,742
OXtSAt 2tel 46,527
Ooxtgzel 282 41,602
-SEX JE 495,000 =2CH 990
-S8%t € 506,000 +5CH 2,530
-SEA e 660,000 *1CH 660
-SEX = 517,000 ~1CH 517
-SE HE 935,000+ 1CH 935
-3l=x 4™ 726,000 8CH 5,808
SIEX € 792,000+ 1CH 792
St A" 440,000 1CH 440
-St=SXt e 1,100,000 = 1CH 1,100
—BAXE (~85E) 825,000 +3CH 2,475
-FAaXE(SEsE) 880,000 +8CH 7,040
A (UHES2) 935,000&*19CH 17,765
-HAXE(0IER) 275,000 +2CH 550
OXS XAl 2,485
-SEX ¥ 75,0003 *2CH 150
-SEA € 250,000 *4CH 1,000
-SEA HE 400,000 1CH 400
-SEX S 100,000 «1CH 100




SN 4G BITAD
M Z0IpE pE2Y
Rl DHASH AR g EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-SEX g 120,000 1CH 120
StEX € 55,0002 8CH 440
-S=x S8 55,0002 *1CH 55
S A" 100,000 *1CH 100
-SEX U 120,000& *1CH 120
(@22 P/ FaE == 2,440
-SEX e 90,0002 *1CH*22| 180
-SEI S 150,000 * 1CH*23] 300
-SEX e 205,000 *1CH*23 410
RCIE—=DNIEN= 50,0002 «8CH*23] 800
SIEX € 90,0002 *1CH*22] 180
St 48 105,000 *1CH*23] 210
-StSXt e 180,000 » 1CH+23] 360
OFINBMN=2E (58,58, 52, S+1)
27,0003 x20CH*23] 1,080
OsIMN=+E (58,58, 32, S+1)
51,000 »20CH*12] 1,020
OX& =l 81,500
O&EIIXt 1,500,000 «4CH 6,000
Odxt 2,700,000 *2CH 5,400
OsExt 4,900,000 =2CH 9,800
OsExt 6,500,000 =2CH 13,000
O3t=xt 4,300,000 *11CH 47,300
202 04| 4,750 3,500 1,250
01 2LHoIH 4,750 3,500 1,250
OLE AMH=A HEXA 04| 4,750
o2 30,0002 x5 %193 2,850
O= 10,0002 x5 & +382 1,900
dEg Jgtxd 2 28 NE 1,059,491 897,549 161,942
e HO WY FHES 29 532,546 395,727 136,819
201 =3 237,886 229,007 8,879
01 At22t2l] 58,450 45,050 13,400
OFEE 2ZEAN 0K 58,450
OMSI| A 563,000 1002 55,300
OogsEx 63,0003 *50= 3,180
02 S3=gHl 179,436 183,957 A4,521
O+ € U, Jdaddl =Xl 143,316
OY2LE FFHE(5830)
4,532,000~ 12& 54,384
OgRE ZalH(23601)
571,0008x 122 6,852
OReleIdeZI(260H)
5,428,000~ 128 65,136




SN MY #FXA
M FOI0HE ALY
tel: 23 Jigtxad & 22 N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAYT SEIA23I|(190H)
842,0002 %122 10, 104
OUEEDIE IEAID SHLI|(3TH)
210,0002* 122 2,520
OB ALHLHAI AL 360,0002 * 122 4,320
07y L ¢S SHOIX RX22
1,200,0008 * 122 14,400
OZ OIS/ AFBSXIHI(2HoI&A) 21,720
OBAl T2 2 (PCE) 28,0002 %5002 14,000
OBl T2 (MHE)
40,0002 x3= 1,320
OUPCXIZI0l Z273
30,00024%100= 3,000
OMeIBE LS T2 (PCE)
34,0002 %1002 3,400
206 M2l 2,000 2,000
01 HEHI 2,000 2,000
OZEE ZHIUHSE 2,000
OSD, I, BE = 200,0002*103] 2,000
401 AlEHIZL 2 0HY 56,000 56,000
01 Al&t] 56,000 56,000
OR0IRIZLZT| SQYRA O|H 56,000
OSASA M= L &X
22,000,000 %204 4 44,000
OFH &I L E2 BAH|
12,000,00024 10§ 4 12,000
405 Kotz S| 236,660 166,720 69,940
01 KAt 2E 3 S| 236,660 166,720 69,940
07y ¥ M.5 HHALFY 23 236,660
OB EE 1,400,00024*50CH 70,000
O2UH 400,00024 <40CH 16,000
OZElH(MEZEEH) 600, 0002 *20CH 12,000
O=elpigez))| 25,000,0002 <4CH 100,000
Ossees)| 7,960,000 +3CH 23,880
OFSEARE FHI|II(3E)
1,340, 00024 *2SET 2,680
OUEHDIIZ thsdn RS
12,100,000 12,100
HESA J|BAIE 2 526,945 501,822 25,123
201 LBt 463,390 370,652 2,738
01 AF22t2H| 1,000 950 50
OAMBHAA SHEH| DY4+42
200, 00024 #5LH 1,000
® 3329t 462,390 369,702 9,688
OSHMEESH AlBE 229,728




SH: NET SHEXAD
M Z0IpE pEeY
tel: 23 Jigtxad & 22 N (SH &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O=I1EE2S8TANER 196,224
T o B, S ()
1,204,000 +132] &4+ 122 187,824
I MoE HZelH
700,000& 12| &+ 128 8,400
OHEsld AlEE 27,504
-RoI0IAYSI|
262,000 62| &+ 123 18,864
- e -5 JlE
30,0003 242 &+ 123 8,640
OAl & 7 23L&
500,000 x 12| &= 123 6,000
O#HH3} AEZ 4,500,000& 123 54,000
OCIHAIH 2HAEE
30,0003 *20=2| &+ 123 7,200
OZESHEHl |2l 171,462
OANEEESAEHI 5,993,000& « 122 71,916
O M WED 1,477,000 122 17,724
OAIZEE AL SEEH
200,000 =122 2,400
oxzu 1,470,000& « 122 17,640
OZEYSHAIAE 1,350,000& « 122 16,200
O E A SEI 1,600,000& 122 19,200
OCCTVEHI 1,666,000 «12& 19,992
=5 % SSAHES MAE
366,000 122 4,392
OZ2AIE ST 166,500& « 122 1,998
206 =4I 7,400 5,000 2,400
01 =4l 7,400 5,000 2,400
OZESHAE &2 XM 7,400
QOutpP AHoIE s 2,500,000 22 5,000
OY Z2HH dx S
1,200,000 27K 2,400
401 Al HIZL 2018 46,555 63,410 AN16,855
01 A=l 46,555 63,410 A16,855
O+& - -8 -3 FUSHHEZ FHI 10,000
OAIR4 FUSLId =2 JHI
5,000,000& <22} 10,000
OH HF=XEE = CCTV WAl
2,000,000 * 1070 2~ 20,000
Olptys=410| 1,505,0002* 11002 16,555
405 KHAHF SH 9,600 62,760 A53,160
01 ML ESHSHI 9,600 62,760 A53,160
OHIYRE IPTEE| 660,000 = 10CH 6,600
ogeE WA 600, 000& +5CH 3,000
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SH: NYT BEXAD
ma: Dot 2o
Chel: pigglolar 243 U AlBI=ReaRR) (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 428 427 1
sSids 3225 FY 325
OZgH &4 220,000 *1H 220
O=AIEXI(M) 21,0003 #58r A 105
odldiHIg: 222 MH 103
Ol 70,0002 *1H 70
Oogzte 33,0002 *1H 33
AF2LIH(LE SEX W) 15,298,624 16,475,029 A176,405
elgE3H 14,806,623 14,982,767 A176,144
el24d| 11,287,311 11,651,181 A363,870
101 @124H| 11,287,311 11,651,181 A363,870
01 &= 10,455,266 10,312,772 142,494
oJlzs 7,413,808
OJlzs(dsH) 763,480
-42 94,424,000 1 94,424
= 83,632,000 +8< 669,056
OJlzs(zSH) 6,650,328
-ghy 6,650,328
6= 4,261,0003 612 +122 3,119,052
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9,503 * 75 x4 * 12 205,265
O=2l& 4| 356,556
~HAUZ A 140, 0002 <7524 * 122 126,000
~HEEIH| 2,561, 73024 600752 =23 230,556
OFM=]| 121,800
-2/ M| 80,0002 %752 » 128 72,000
=R 50,0002 %75 * 122 45,000
2Lsag 200,0002 12 * 128 2,400
= () 200,0002 12 * 128 2,400
OdxIRa8I+Y
152, 08624 %752 202 228,084
308 Z4f2 63,612 62,628 984




SN NG B MDY
A AZYRAZH(A4FT SF4n)
chol: ol (19 @)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
02 dtat0i= 63,612 62,628 984
oOduta= 2,261,730 +37 .5+ 75 63,612
=&l 182,675 176,388 6,287
JI=2&Hl 182,675 176,388 6,287
201 L= 131,735 124,848 6,887
01 AF22t2ltl 105,822 103,073 2,749
OJl=g R 500, 0003 24 +97% 11,640
OJl=ZHl(=l)
8,000 24«8+ 123 18,432
oSN S
8,000& 759 x202 12,000
OstZE2RA LIS 63,750
oxg= 90,0003 *75H+65 40,500
Ooget= 100,000&*75H*15 7,500
OF = EY)] 15,0002 +75Z +23] 2,250
Ootd st 60,0003 »75Z +22 9,000
Ozt 15,0002 75 & #22 2,250
O=g 15,0002 *75& %12 1,125
oot 15,0002 *75& *12] 1,125
02 S3=24l 25,913 21,775 4,138
CEEERENERES 2,888
o= 30,000 *75Z*12 2,250
OFHELEEEZE - EXIIRA|
8,500 x75E*12] 638
CEEEEEE I EL
150, 000& 75 x30% 3,375
OstES2A HIsSWAl
500,000 *75Z *10% 3,750
oRERS 15,500
oget 4003 *20,0000H 8,000
Os7I 2,500 +3,0000HK 7,500
O XS AR =Xl2cll
5,000,000 1CH 8% 400
202 044l 42,000 42,000
01 =LA LI 15,600 15,600
OJIEZH| 20,0003 *13H 5+ 123 15,600
02 A0 26,400 26,400 0
OJ|=&H| 200,000& *x11E 123 26,400
203 gR=8| 8,940 8,940
04 REXNSLERFAH 8,940 8,940
OJI=A 8,940
O30e!0lat 400,000& + 123 4,800
O30Q! =1t 5,000 69 * 122 4,140




E 0 & AHE E A A

%._EEF TOrOIIETI (SH9 H2)
M- B SRASH) - HRAR - B2 of v e HIDE2
Far=mn. 16,394,637 11,300,918 4,093,719
= 518,000
Al 14,876,637
G 2SS LY 2,775,335 2,481,805 293,530
2 2ots FXl2tel 2,775,335 2,481,805 293,530
Ji2eers dd 2w 920,765 716,889 203,876
401 AIEHIZ SR HYI 920,765 716,889 203,876
01 Al&HI 915,000 712,400 202,600
O=otsS A&l &X
1,500,000& *1109H 2~ 165,000
OL=JtZ2S LD WA
1,000, 0002 * 15000 £ 150,000
OLtdHE LEDS WHISA
1,000, 0002 *460IH 2 460,000
o4&z M= ?I8t LEDES WAl
1,000,000& 7000 2 70,000
OL==H0ots LEDWH
1,000,000 *707H 2= 70,000
03 AIZSTHYI 5,765 4,489 1,276
OJtz2ers AlE & WA
915,000,000 *0.63% 5,765
2 - 2ots &2l 1,854,570 1,764,916 89,654
201 el 1,361,370 1,309,968 51,402
01 At2telt] 33,517 36,602 23,085
oJt2sS HIIEH BEe=8 21,617
=g 53,5703 %353= 18,911
Otzs= 9,020 x300= 2,706
OJt2EotS 2= HYA LS| 500
oxg= 90,0003 *2& 180
ogset=s 100,000 x2&H 200
Oetd gt 60,0002 ~2H 120
OJI2S RAESE X LIt
950,000 «1CH* 122 11,400
2 S5=2g4l 1,327,853 1,273,366 54,487
oJtzEets MJIRs 1,309,560
oJtzs 210,000 353 A x 12 889,560
Oo=Lers 5,000& 7 ,00001 A+ 122 420,000
OJtzS 2Yg 38)| Stes
3,000 #3534 2% 123 12,708
oizs RNE=8 g FFU
1,98921%12 £ 240 5,585
206 M=l 140,680 112,500 28,180
01 MZH| 140,680 112,500 28,180
OJtz2ets E+=E XM 140,680




Mg AL
e RERES
2 2ets 72 CHe M)
SA - Z - B2A(S1H) - HRAES of v e HIDE2
OoEots )| 80,0002 x3007H 24,000
OJtzsogs ME)|
4,500,000 %24 9,000
ONYUEES &z 2500
29,0002 %1004 2,900
ODYLEES BT 1500
27,0002 1004 2,700
ODAUES o+AI| 1500
43,0002 *100H 4,300
ODYUEES o+HAD| 2500
53,0002 %1004 5,300
OLEDZZ 80 100, 00024 200K 20,000
OLEDS I3 70W 420,0002 x44H 18,480
OLEDS |7 120M 500, 0002 *60H 30,000
OLEDS |7 150M 600,000 «407H 24,000
401 AlEHIL 201 352,520 342,448 10,072
01 Al&H] 350,000 340,000 10,000
OIIR=Eots |XESL 350,000,000 350,000
03 Al =20HYI 2,520 2,448 72
OII=REos SRS
350,000, 0002 %0. 72% 2,520
DEUMS st TAIDIBEY 8,795,847 7,011,737 1,784,110
[ 518,000
Al 8,277,847
CE om0|2tel SAIHEEZ HA 1,714,413 2,045,343 330,930
TRIIBAIE ST 23,523 19,277 4,246
201 LBt A 23,523 19,277 4,246
01 AFR2t21H] 17,642 14,375 3,267
O&HZZ 24(EST) 7
3,000,000 174 3,000
OZAIHEDIA HHAY ADE 3,602
O= AL X (M) 21,0002 %32t Ax 128 756
omglH €4 220,0002 % 104 2,200
og3 66,5002 % 1CH*43] 266
Osd 95,0002 *4J4 380
ONLES - T2 HHXAL L NCEHH
2 It AX 920,000 *1CH* 122 11,040
2 22294| 5,881 4,902 979
OEXOIZHE S LI HYEY |
o) 2%
OAX= A 3,700,000 *1CH*8% 2%
ONLES - 2R HXXAL L NCEHH
2 It Axtxr 22
1,989 12 f %2402 5,585
Il E2 HYUSX 24 106,490 106,420 70




SH: N AL
M REUMS 9B TAJIPEN
Sl =2 12m0ietel ZAIHEEZ OiE (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 106,490 106,420 70
01 Al&H| 106,490 106,420 70
07 ERHYSX 24 106,490
OEX2HE 100,000, 0002 100,000
OABL42 6,490
ABEISER
200,0002 20K J | 2% 102 X| 4,000
—=ESYErTE 344,000 «5E Xl 1,720
S0l 5 77,0002 10 Xl 770
298 82xu5(23-12138) E2HE 80,000 0 80,000
401 Al HIZ R 0HbI 80,000 80,000
01 AlZ8| 80,000 80,000
OEX=Zd=s 80,000,000 80,000
=2 §F oty 2Lt F(A2-103) T 2IHESA 450,000 450,000
401 AIZHIYL S HE 450,000 450,000
01 Al&H| 450,000 450,000
OEX=Ed= 450,000,000 450,000
ESWHAEAMEZ FH TANEZZ2(AR3-1214 804,400 895,600 291,200
S 2H) HE
401 AIZHIX S0HH 804,400 895,600 291,200
01 AlZ2H| 804,400 892,000 A\87,600
O 4| 804,400,000 804,400
SEYET7IY F(A2-1552) S2HEZA 100,000 0 100,000
401 AIEHIZ SR HYI 100,000 100,000
01 Al&HI 100,000 100,000
O& AIZ AL (L=573m, B=Bm) 100,000,000 100,000
== SHNNEBEZ T20H4 150,000 0 150,000
401 Al HIZL 2018 150,000 150,000
01 Al&HI 150,000 150,000
O 4| 150,000,000 150,000
c22e| 7,081,434 4,966,3% 2,115,040
= 518,000
Al 6,563,434
CE23H & FAE2F 3,617,611 3,081,255 536,356
101 21AH| 5,423 5,020 403
04 JIZtN2Z2XNSE+ 5,423 5,020 403
OWSEXTA 5,423
ooy 82, 1003 x2& *32]* 1000 2 4,926
OZtAHI
3,000& <22 x2& 31l i 107 2 360
OAHEE JI2RE=2 137
-UEEE 4,926,000 *1.75% 87




SH: N AL
M DYLVS A TADIYES
ol cRe (S &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—MTHEE 4,926,000 * 1% 50
201 B2 AY| 321,355 287,437 33,918
01 At=R2teld| 61,120 57,525 3,59
oFHIeX= 22,000
O=41)| 600,000 *1CH*20 12,000
OEEEH 500,000 *1CH*20 10,000
OZ=Z23 SEEXIAL Y XNCEHLAE 1Y
Xt 920,000 x1CH+12& 11,040
OARE &2 21X Xz
475,000« 12 X 475
OXI|otH 22| CHE =42 11,760
Og2Yds KIoHKE 270,000& =128 3,240
O -at8HY 270,000& =122 3,240
OE2~IER E2 o
1,056,000 *5& 5,280
OB A4 =EHA =2 190
O=2Z Xgl= AHel BtY 2=
19,00021% 17§ A*23] +52 190
OE2&FH A8 ARF 4,380
O&HEXI(A3,M,A0)
21,0002 x5t Ax 123 1,260
OsAP| EYH 260,000 =121 3,120
O3F A2 10,675
OgxI(28) HOIE Meld
150,000& *10E 1,500
Oeg=sdrr2 344,000& =102 Xl 3,440
OZAHEE+2 526,000 102 K| 5,260
OZ2SMat2e] ADEX|E I
47,5003 1004 475
O&EHZZI(EST) HIOIE
600,000& *13] 600
02 32| 260,235 229,912 30,323
OJ|SE AIRA HEHI(SR)
1,344 %30 £ *60Y 2,420
O==28 HEZEIZ MFI| SFRUH(ZLR)
1,9392 %5 £ *2CH*100 1,939
O==Z Y| &l SXHI(FI,HEII)
250,000& x2S 500
OXIGHAIE J|IHEH R 8,471
ORFU(ER) 1,830& %450 £ *32| 2,471
Oog&I| 82 ¥ sXdl 1,000,000& 1,000
Oti=8Z &#4 ¥ |74l
5,000,000& 5,000
ORI E #=Bi& B FXIH| 5,000
O==&gt 500,000 x5 2~ 2,500




FA ogs AL
B DEUMES 98 TAIDIBEA
e T2
RA - BH SRS - LAY - BAS ofl &t A
Otf& et 500,000 *5IH A 2,500
OFAZZ (ML )2l iCV 22223 5,400
ONIIR3 50,000 »3CH =128 1,800
Ozlees 100,000 *3CH* 123 3,600
oZa-atd2t He 129,600
oMIIe3a 10,000,000& <122 120,000
OdEdes= 800,000& » 128 9,600
OusHE dIIes=s 750,000 122 9,000
OXNLZEE LNSZMEEALH SRS
500,000 123 6,000
OctalEz M 16,200
oIS 60,0002« A+ 123 6,480
OAd 3 90,0002« A+ 128 9,720
OR4d otatZ JAA2e| NSAHAAE 31,680
oMIIe3 20,0002 *12J4 2+ 128 2,880
Osties 200,000& x 1201 2+ 123 28,800
O=2LZ Xgle Hel HFE 2 A8 35,200
oMIIe3 1,200,000& « 122 14,400
oot 23 5,200 *400=+ 102 20,800
OF=0dH XA & NE=EHE SRt
g | 1,939& %12 £ 240 5,585
OZEEZE NsSEXNALHE SHRS
110,000& « 122 1,320
OEE IVUMSHE & THoHSAH 2 1,680
oMIIe3 130,000& x 122 1,560
Ostles 10,0002« 122 120
O Xotxt: MPXNHAE SEe=
20,0002« 122 240
206 =4I 48,018 48,018
01 M=4l 48,018 48,018
OXg T2E+8 XM 45,510
OxgdldsXs 231,000 =60H 13,860
OXMotAZ 14,0003 %1,500% 21,000
OAIBE 5,000 +250£ 1,250
Ol 23,0002 +200m" 4,600
OSM(HA) S 55 16,0003 *300m* 4,800
Okz2+ HGA M2A2|E K 2,508
OZAreHY EXI £t 60,0002 *1H 60
OZALE HA 25,0002 *20K 500
OZALE cttt2 13,2002 *30H 3%
(OFSPNRSE=1= 15,0002 *30H 450
O%g 1= 17,6002 +20H 352




SH: N AL
ZH: FEUFES 9B TADIUEY
el 22 (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
SEEPIEEET
15,0003 53+ 1004 750
305 =S 10,000 5,000 5,000
01 =S 10,000 5,000 5,000
O=ZAE ADEY Hiad=s
500, 000& »202] 10,000
307 212+01& 54,800 54,800
05 2ItRIE = 54,800 54,800
OXlotE HAESA 1,400,000& «12& 16,800
Os2=z Xgls Hel sXiZelt] 38,000
O2=U & AZ &4l 18,000,000 18,000
OHFAE=E S E2
2,500,000 «8& 20,000
401 Al HIZL S 0HYI 3,178,015 2,680,980 497,035
01 Al&HI 3,172,030 2,674,99% 497,035
OEZ % SZANEE RAES 2,925,000
OOtAZE AltE= 400,000,000& 400,000
OXrd =24 70,000,000 70,000
OEk € dAA FAE+
100,000,000 100,000
OE2HTAIEE RAE=
160,000,000 160,000
O=F=2&=2H M= 400,000,000& 400,000
O0el0I22+9 AldE RAE=>
100,000,000& 100,000
O=ZoHHEX# FEH 25,000,000 25,000
OFdl= Nt 950,000,000 950,000
OsZANEUERANES
720,000,000 720,000
C2EH & [FANE=AY AAIZAHI
950,000,000 *4.07% 38,665
OZ2oR SYLL2(IAUSY)
526,000 =102 X 5,260
OC20Y 2 (2EFE)
34,0002 102 X 3,440
OdtEHE TV & dZE |2+
85,0003 x28CH«12& 28,560
OANE ¥ sHEEZ DIXSEXN B4 104,105
OEXed=s 100,000,000 100,000
o8& 4,105
LB
200,000 *2J4 J| 2t+5&= X| 2,000
—SEEYrTR 344,000 *5E Xl 1,720
SI0l&+=+2 77,0003 *5& X 385
OF IR T2 AH B=ZA
67,000,000 67,000




SH: N AL
M REUMS 9B TAIIYEN
chelr S22t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 5,985 5,985 0
Ok=2 & T2ANEE FAEFAY
950,000, 0002 *0.63% 5,985
FUSTAS 2,118,884 1,120,314 998,570
401 Al HIZ S OHbI 2,118,884 1,120,314 998,570
01 A28l 2,112,000 1,114,776 997,224
O8LsEANHEMHIHL 23 E2FHHIS
AHL=1. 1km) 1,200,000,000& 1,200,000
ONtEz U SZAE B2 ZAHH20m, L
=60m) 400,000,000 400,000
O8LsS 2134 X L2 =2 HHISAHB=13~16m,
[=650m) 17,000
O&AIEAESSHI 17,000,000 17,000
=S M4-2981X S 200 ESZHISA
20,000,000 20,000
Osds 2rHK 23 2-JHISA
30,000,000& 30,000
OUdS 30-30HA €& T=2HHISA
10,000,000& 10,000
OS&Z 70 23 =2 IUISA
140,000,000 140,000
oud=z 172 23 2-JHISA
27,000,000& 27,000
ONIHEOISO0HTE 2= FEHIS A
38,000,000& 38,000
Os&s 82-181X L3 ti+2 JUISA
20,000,000 20,000
OEs 628Xl S22 A
10,000,000 10,000
O=2U=JAA () 200,000,000& 200,000
03 Al 20HHI 6,884 5,538 1,346
OFpI=J A 1,912,000, 000& +0.36% 6,884
wg 2 AIEE A2 826,939 764,825 62,114
201 er23| 1,260 0 1,260
01 At2tltl 1,260 0 1,260
OsHEE AR Hod
30,0003 7 H 63| 1,260
401 AIEHIX 20HH 825,679 764,825 60,854
01 A28l 820,525 761,09% 59,430
Ooug f ANd=s RS
350,000,000 360,000
O2Yu Bx=E2L3A 240,000,000 240,000
Olldn E=2LSAt 87,000,000 87,000
OZ2an BE=E2LSA 13,000,000 13,000
OttdHE S 3 AIEdE MEES
40,000,000 40,000




SH: N AL
M REUMS 9B TAIIYEN
chelr S22t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZY XISt HBAK =£3At
20,000,000& 20,000
Ooung L AldE SAZCIAIY AAIE AL
750,000, 000& %4.07% 30,525
ORaA oteE2 M| RAE==(100H4)
20,000,000 20,000
ORHH SHEZ H2T RAE(9HA)
20,000,000& 20,000
03 AIZ S THYI 5,14 3,730 1,424
Oug L A= =Al2c
818,083,000& *0.63% 5,14
MEEHAIE LA (23H) 327,000 0 327,000
< 327,000
401 AIZHIX S0HH 327,000 0 327,000
=S 327,000
01 Al&H| 327,000 0 327,000
22 01H8c| Ot=ere ZHISA
30,000,000& 30,000
= 30,000
OgdH 1232l OtAZ M RIIBA
30,000,000& 30,000
= 30,000
Oogg atg2c| ME ZHISA
40,000,000 40,000
= 40,000
OF21S M2 HEYSA
30,000,000& 30,000
= 30,000
OJtEE Ll €3 Jt=dle EXISA
36,000,000 36,000
& 36,000
OJtEE =322 MSALYE2 SHESA
30,000,000 30,000
< 30,000
QI8 H &2e| 23 MEZHISA
356,000,000& 35,000
[ 35,000
ONEES 52 AR ZHBA
25,000,000& 25,000
== 25,000
OJ14 S QIxHel S 304 0t2 EXt FHIZAM
16,000,000& 16,000
== 16,000
odg+ 2% 0182l OlesAls2t ol
At 55,000,000 55,000
s 55,000
SAHEEZ HUIAY 191,000 0 191,000




2A:

. DU S A% TADIEtEY
ool E2ae] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 191,000
401 AIEHIX 20 191,000 0 191,000
=S 191,000
01 Al&H| 191,000 0 191,000
Ooget 2 TZHHISA
89,000,000& 89,000
= 89,000
Oxtd=2eltl EXIAY 57,000,000 57,000
= 57,000
OES=-SE2 2& ATIHISA
45,000,000 45,000
= 45,000
e - THaHel M=zsh & 3,005,421 1,202,417 1,803,004
THEt - THoH ol e 1,088,413 184,355 904,058
THEE 2 THol 22l 273,413 184,355 89,058
201 Ler=23| 237,013 176,955 60,058
01 AtR2te|Hl 2,500 2,600 A100
OJISE AIRA S0I2Y| PE+4R
150,000& 122 1,800
oN-t2el 822 ¥ =2 M
70,000& %102 700
2 352484l 234,513 174,355 60,158
Odafti Y| =H&Hl 10,140
Ougl| FXl2e| 1,000,000 *2CH 2,000
ON&EE eI =Xl]
1,000,000 *2CH 2,000
ONEE S=aH)| KA
1,000,000 *4CH 4,000
OXtsE =2 AHE Xl S|
350,000 *23 700
ON4E R 2 AIEZ
120,000~ 128 1,440
ON&EH 332= 2,560
OREZEX(WED]) &3
200,000 x2CH 42 1,600
OMEHX dot==R=s
80,0002 x3CH+4 960
(©Jul=d:] 10,800
OMEXY 8 HURJTU(SR)
1,344 %50 £ +30& 2,016
ONMAE 2HaEI| FRU(ER)
1,8302%160 £ 30! 8,784
OANZE € sHEZZ MEHY 57,000
OME3Hl 282(E5H0IH)
200,000 »114CH 22,800




2A:

o7 AL

2 T - oSl dzst 2
CH2lr THt - THoll ol EER=E)
SA - B SRIBH) - MRAR - BAS A HIDEZ
ON&EH EdH |RF
100,000 *114CH 32 34,200
OZIIEZ 2 8 538= 140,600
(OFSPIETE= 3,500,000 x84 x5 140,000
Osties 50,000& * 122 600
Og=2= SEHOHIE Y2 S B2 3,434
OFSPIEei=) 550,000 «5& 2,750
OStle= 57,0002 122 684
OLSHE NSE-LEYX S8= 1,350
o&lIe=s 150,000 +5E 750
Ostles 50,0002 12 600
OXgz NS+ LTX 5L 1,792
Oo&IIe3 200,0002 5 1,000
Osties 66,0002« 12& 792
O+38Z 180 ASE+LLIX SS2= 875
OFSPIEei=) 55,0002 5 275
Ostes 50,000& * 128 600
OFINER £2 NS 33
2= 1,710
oNIIR3 150,000 +5E 750
Ostles 80,0002 12 960
OSHS 154-15 NSS4 ETX| E5R= 1,542
o&lIe=s 150,000 x5 750
Osties 66,0002~ 12 792
O=d~-F82 T2 NS4 1TX 33
23 1,710
o&IIe3 150,000 5 750
Oosties 80,000& * 122 960
O=solitixE | = 1,000,000& 1,000
206 M=l 7,400 7,400
01 MZH| 7,400 7,400
O=olitiz=E A M 7,400
O==2=(0.8mx12m) 20,0003 +202 400
OetMHEIOIZ S 55 2,000,000& 2,000
OPPZLCH 10,0002 *5000H 5,000
401 AIZHIZ SO 20,000 20,000
01 Al&HI 20,000 20,000
OF=Xl X2l (5HA) 20,000,000& 20,000
405 KHoHFSHI 9,000 9,000
01 ML ESFSHI 9,000 9,000
O==2JIse NHHE LD 21801
4,500,000 =24 9,000
Tl =SFALS 815,000 0 815,000




2N AR AL
A T - Mool MzZs 28

Sl TH: - THoH ol EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
401 Al HIZL 2018 815,000 0 815,000
01 A=l 815,000 0 815,000
OO0IEH CHAIZ| BBAl & MED 73
At 100,000,000& 100,000
O0IEd Jlgel 27669 Al 23 NEEHISA
80,000,000 80,000
O0IAH 24ke| MEEHIZAL
48,000,000 48,000
O0I2H Sl €& HNEEHEISA
200,000,000& 200,000
o0l Fee| 462X L& ANAEHISA
75,000,000 75,000
O0IdY Jlel 27769 Kl L& NEZHIZA
40,000,000 40,000
O0I2H 2ucl 23 NMEZHISA
200,000,000& 200,000
O0IEd Jlgel 250-3%HAl 23 NEEHISAt
72,000,000 72,000
St - Hi=AIE JHA 1,917,008 1,018,062 898,946
Bi==AlE EHI & |X2el 267,800 242,650 25,150
201 L2 3,000 0 3,000
01 AtR2telb] 3,000 0 3,000
O&A=Z=Z(EST) =
3,000,000 *1HK 3,000
401 AlZHIZ S 0HbI 264,800 242,650 22,150
01 AlZHI 263,000 240,994 22,006
O0t=ot== JHl & FXI22|AL
250,000,000 250,000
OltSot== dHl & |A22IAY AL
Al 250,000,000 +5. 2% 13,000
03 AIE =2 CHHI 1,800 1,65 144
OCltsot== &4l & sX2celAtd
250,000,000 *0.72% 1,800
ot FHl & |Xl2el 1,349,208 689,948 659,260
201 L= 60,600 41,800 18,800
01 AFS2t2ltl 60,600 41,800 18,800
OSEHZZ ] (EST) SHIOIE
600,000& %12 600
OZ L ofd ota=4 HHIEX
60,000,000& 60,000
401 AlEHIZ S 0HYI 1,288,608 648,148 640,460
01 AlZH| 1,284,144 644,242 639,902
Oodtd Y RXAl2el 970,000
Oot&&EH| 550,000,000 550,000
ON= € ==/ 400,000,000 400,000
O2lei=olialE HMA 20,000,000 20,000




SN g AeD
2 T - oSl dzst 2
chel: S - Bis=AlE OHe (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORHH(XILGIE) Gtal ELSAHA=9,700m")
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